100

A
©

Y

RHET

0.5mFK i
0.5~1.0mFi#
1.0~2.0m*% &
2.0~3.0mFiH
3.0~5.0mxkit
1:2,000

[(&RKi=KF]

BRRRKR

1 1 1 1 1 L 1 1 1
1 I 1 I 1 1 1 1 1

=2KIEE R

BlEEICEI(ELEREREAZER) R 2jHs 236

Ln_

. By
£

] o
(Te]

) R
o=
I (

T TR
A n“mWWI =i mn FZes
[
W

7
/
|

ﬂ»




""'.'_-"A. iy 4
T N N

= "n
=3 3 4

E:'

= KHT
=K E R B
[(H1TERERE]

it £t TR

BASITEH

BL3

53E 5

L=

-y -
ST ii"“=l.l!!.',"’o.‘i R
# -~

Oy
==

L

| (W

]

14H

L

1=

AL

A

1:2,000

100

BEECEI(ELHERRRB(ER) R 2iHs 236




JKAEE XX

-~
1

RKFE

[&RKRE]

0.00m/s~

1.00m/s~

3.00m/s~

12.00m/s~

1:2,000

100

1 1 1 L 1 L 1 1 1
1 I 1 I 1 1 1 1 1

B ECRI(E L ERERZ(ER) R 2jHs 236




= KHET
=KEERXEE
(K BIERFRE )

#Fth £ TR F

KR E R
243~
35~

=

E

E

5
1:2,000

AlfEEICE I E L B REAEER) R 2jHs 236




